WILLIAMSON COUNTY, TEXAS CHANGE ORDER NUMBER: 1

1. CONTRACTOR: Alpha Paving Industries, LLC		Project: 14IFB00243	
2 Change Order Work Limits: Sta. N/A to	Sta, N/A	Roadway:	
3. Type of Change(on federal-aid non-exempt projects):	(Major/Minor)	Purchase Order	
4. Reasons: CODE: 2E (3 Max In order	of importance - Primary first)	Number:	_
		The state of the s	,
Quantities adjusted due to differing site conditions.			
	6 and Special Specification		
 New or revised plan sheet(s) are attached and numbers New Special Provisions to the contract are attached: 	ed: N/A Yes 🖸	No	
O Now Cooke Continue to the NA NA NA NA NA	and Consideration floor	//A are alleshed	
New Special Provisions to Item N/A No. N/A Security No. N/A Security N/A No. N/A Security N/A No. N/A Security N/A N/A N/A N/A N/A N/A N/A N/A N/A N/A			
	The following informat		7
The contractor must sign the Change Order and, by doing so, agrees to waive any and all claims for additional componsulion due to any and all other expenses, additional changes for time, overhead and profit; or loss of		Days added on this CO: 0	
compansation as a result of this change	Time Ext. F. NIA L	Days added on this CO	•
THE CONTRACTOR Dale 7/29/15	Amount added by this chan	ge order: (\$15,258.45)	
By I Andrew Ki			
Typed/Printed Name D. Andrew Kin	-		
Typed/Printed Title President			
RECOMMENDED FOR EXECUTION:			
NEOGHINE HOLD FOR EXECUTION.	Caush Cammingle	Date Organizat 4	_
	County Commissio	ner Precinct 1 Date REQUEST APPROVAL.	,
Project Manager Date Construction Observer			
1	County Commissio	ner Precinct 2 Date	 -
Clarden 7/28/15	APPROVED	REQUEST APPROVAL.	i
Design-Engineer Date			
7 () 11	County Commissio	ner Precinct 3 Date	
person Cueston 7/29/15	☐ APPROVED	☐ REQUEST APPROVAL	
Program Manager / Date			
Design Engineer's Seal	County Commissio	ner Precinct 4 Date	propriet
TE OF TEL	☐ APPROVED	REQUEST APPROVAL	ć
54	10/	14	
KON O PWAN	County Ju	udge Date	6-20
KON Q. KWAN 90584 / 45	APPROVED COUNTY ST	Date Date	•
000000000000			

WILLIAMSON COUNTY, TEXAS

CHANGE ORDER NUMBER:1_	Project #	14IFB00243	_
TARLE A: Force Account Work and Materials Placed into Stock			

LABOR	HOURLY RATE	HOURLY RATE

TABLE B: Contract Items

W-12-1				N N 2000 11 11 11 11 11 11 11 11 11 11 11 11	+ PREVIOUSLY EVISED	ADD or (DEDUCT)	N	EW	
ITEM	DESCRIPTION	TINU	UNIT PRICE	QUANTITY	ITEM COST	QUANTITY	QUANTITY	ITEM COST	OVERRUN/ UNDERRUN
500	MOBILIZATION	LS	\$5,000.00	1.00	\$5,000.00		1.00	\$5,000.00	\$0.00
666	REFL PAV MRK TY I (W) 4" (SLD) (090MIL)	LF	\$3.00	6,376.00	\$19,128.00	(508.00)	5,868.00	\$17,604.00	(\$1,524.00
666	REFL PAV MRK TY II (W) 4" (SLD)	LF	\$1.00	6,376.00	\$6,376.00	(508.00)	5,868.00	\$5,868.00	(\$508.00
666	REFL PAVE MRK TY I (W) (ARROW) (090MIL)	EA	\$300.00	5.00	\$1,500.00		5.00	\$1,500.00	\$0.00
666	REFL PAVE MRK TY II (W) (ARROW)	EA	\$100.00	5.00	\$500.00		5.00	\$500.00	\$0.00
666	RE PM TY II (ACC PRK)(WHT)(SYMBOL ONLY)	EA	\$50.00	14.00	\$700.00		14.00	\$700.00	\$0.00
666	REFL PAV MRK TY I (R) (SLD) 6" (090MIL)	LF	\$3.00	1,692.00	\$5,076.00	(1,692.00)	0.00	\$0.00	(\$5,076.00)
666	REFL PAV MRK TY II (R) (SLD) 6"	LF	\$1.00	1,692.00	\$1,692.00		1,692.00	\$1,692.00	\$0.00
XXXX	POLYMER-MODIFIED EMULSIFIED SURFACE TREATMENT	GAL	\$10.15	12,105.00	\$122,865.75	(803.00)	11,302.00	\$114,715.30	(\$8,150.45
	TOTALS				\$162,837.75			\$147,579.30	(\$15,258.45

CHANGE ORDER REASON(S) CODE CHART

Design Error or Omission	1A. Incorrect PS&E
Tr. Boolgit Error of Officiation	1B. Other
	is. Offer
2. Differing Site Conditions	2A Dispute receiption (expense equand by conditions and/or recultion delay)
Differing Site Conditions (unforced and la)	Dispute resolution (expense caused by conditions and/or resulting delay) Unavailable material
(unforeseeable)	
	2C. New development (conditions changing after PS&E completed)
	2D. Environmental remediation
	2E. Miscellaneous difference in site conditions (unforeseeable)(Item 9)
	2F. Site conditions altered by an act of nature
	2G. Unadjusted utility (unforeseeable)
	2H. Unacquired Right-of-Way (unforeseeable)
	21. Additional safety needs (unforeseeable)
	2J. Other
0.00	
3. County Convenience	3A. Dispute resolution (not resulting from error in plans or differing site conditions)
	3B. Public relations improvement
	3C. Implementation of a Value Engineering finding
	3D. Achievement of an early project completion
	3E. Reduction of future maintenance
	3F. Additional work desired by the County
	3G. Compliance requirements of new laws and/or policies
	3H. Cost savings opportunity discovered during construction
	31. Implementation of improved technology or better process
	3J. Price adjustment on finished work (price reduced in exchange for acceptance)
	3K. Addition of stock account or material supplied by state provision
	3L. Revising safety work/measures desired by the County
	3M. Other
Third Party Accommodation	4A. Failure of a third party to meet commitment
	4B. Third party requested work
	4C. Compliance requirements of new laws and/or policies (impacting third party)
	4D. Other
5. Contractor Convenience	5A. Contractor exercises option to change the traffic control plan
	5B. Contractor requested change in the sequence and/or method of work
	5C. Payment for Partnering workshop
	5D. Additional safety work/measures desired by the contractor
	5E. Other
6. Untimely ROW/Utilities	6A. Right-of-Way not clear (third party responsibility for ROW)
	6B. Right-of-Way not clear (County responsibility for ROW)
	6C. Utilities not clear
	6D. Other



-This item is required to be submitted with references before the deadline of:

TUESDAY September 9, 2014 AT 3:00 PM.

SCHEDULE "A"

PRICE SHEET

-REQUIRED AS A PART OF STEP 1-

TWIN LAKES PARK FOG SEAL

THIS FORM MUST BE COMPLETED AND RETURNED BY THE DEADLINE OF:
Tuesday, September 9, 2014

The undersigned Bidder, having become familiar with this IFB agrees to furnish the goods and/or services in accordance with this IFB.

Bidder shall state Unit Price and Total Cost amount for each unit item.

Bid Items and Estimate of Quantities Twin Lakes Park Fog Seal (Polymer-Modified Emulsified Asphalt Surface Treatment) Project

ltem#	NO.	Description	Units	Quantity	Unit Price	Cost
		POLYMER-MODIFIED EMULSIFIED ASPHALT			15	79
XXX	XXXX	SURFACE TREATMENT	GAL	12105	10-	122,865
500	2001	MOBILIZATION	LS	1	5,000	7,000
666	2011	REFL PAV MRK TY I (W) 4" (SLD) (090MIL)	LF	6376	300	19 128
666	2053	REFL PAV MRK TY I (W) (ARROW) (090MIL)	EA	5	3000	1,500
666	2145	REFL PAV MRK TY II (W) 4" (SLD)	LF	6376	100	6.3760
666	2160	REFL PAV MRK TY II (W) (ARROW)	EA	5	1000	5000
666	2390	RE PM TY II (ACC PRK) (WHT) (SYMBOL ONLY)	EA	14	5000	700
666	XXXX	REFL PAV MRK TY I (R) (SLD) 6" (090MIL)	LF	1692	350	5076
666	XXXX	REFL PAV MRK TY II (R) (SLD) 6"	LF	1692	1 120	16920
			Total			162,83

Application of the fog seal product is confined to periods in which the climate conditions meet those discussed in the technical specifications (Short periods of time in the Fall and Spring). Because of this, bidder shall guarantee pricing for 12 months from the time of award.